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'DODP�PHQJHUMDNDQ� SUR\HN� DNKLU� LQL�� WHQWX� VDMD� PHUXSDNDQ� KDO� \DQJ� WLGDN�PXQJNLQ�

DSDELOD�SHQXOLV�EHUMDODQ�VHQGLUL�WDQSD�EHUKXEXQJDQ�GHQJDQ�SLKDN�± SLKDN�\DQJ�WHODK�GHQJDQ�

LNKODV� PHPEHULNDQ� ELPELQJDQ�� EDQWXDQ�� GXNXQJDQ�� GDQ� SHQJDUDKDQ� EDLN� GDODP� EHQWXN�

PDWHULO�PDXSXQ�PRULO��.DUHQD� LWX��SHQXOLV� LQJLQ�PHQJXFDSNDQ� WHULPD�NDVLK� \DQJ�VHEHVDU�

EHVDUQ\D�NHSDGD�

�� 7XKDQ� <DQJ� 0DKD� (VD�� EHUNDW� NDVLK� GDQ� NHEDLNDQ�1\D�� SHQXOLV� GLEHULNDQ�

NHVHKDWDQ�GDQ�NHODQFDUDQ�GDODP�PHODNVDQDNDQ�VHWLDS�SURVHV�GHPL�SURVHV�GDODP�

SHQJHUMDDQ�SUR\HN�DNKLU LQL�

�� .HGXD� RUDQJ� WXD� \DQJ� WHODK� PHPEHULNDQ� GRD� GDQ� GXNXQJDQ� \DQJ� VDQJDW� EHVDU�

VHKLQJJD�SHQXOLV�WHUPRWLYDVL�XQWXN�PHQ\HOHVDLNDQ�3UR\HN�$NKLU LQL�

�� %DSDN�'HQQ\�'DUOLV�� 6�6�L��0�7�� VHODNX� SHPELPELQJ� ,� \DQJ� WHODK� PHPEHULNDQ�

DUDKDQ� GDQ� PRWLYDVL� NHSDGD� SHQXOLV� DJDU� GDSDW� PHQJHUMDNDQ� 3UR\HN� $NKLU� LQL�

GHQJDQ�WHUHQFDQD�GDQ�VHVXDL�GHQJDQ WDUJHW�

�� %DSDN�$VHS�0XO\DQD��6�7���0�7��VHODNX�SHPELPELQJ�,,�\DQJ�WHODK�PHPEHULNDQ�

GXNXQJDQ�GDQ�ELPELQJDQ�GDODP�SHQ\HOHVDLDQ�3UR\HN $NKLU

�� 6HOXUXK� GRVHQ� '�� 7HNQLN� 7HOHNRPXQLNDVL� VHODNX� SHQJDMDU� GDQ� SHQGLGLN� EDJL�

SHQXOLV��NDUHQD�EHUNDW�EDQWXDQ�GDQ� LOPX�\DQJ�GLEHULNDQ��VHKLQJJD�SHQXOLV�GDSDW�

PHQ\HOHVDLNDQ�3UR\HN�$NKLU�WHSDW ZDNWX�

.HVHPSXUQDDQ KDQ\D PLOLN 7XKDQ <DQJ 0DKD (VD� 2OHK NDUHQD LWX� SHQXOLV PHPRKRQ�

PDDI� VHEHVDU�EHVDUQ\D� DSDELOD� PDVLK� WHUGDSDW NHNXUDQJDQ� VHUWD� NHVDODKDQ� GDODP�

SHQ\HOHVDLDQ�3UR\HN�$NKLU�LQL��6HPRJD�GDSDW�EHUPDQIDDW�EDJL�VHPXD SLKDN�

%DQGXQJ����-XOL�����

3HQXOLV


